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1. For each of the following graphs, calculate the average velocity during each interval of the graph.  Remember to show all of your work and reasoning.
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2. The following measurements were recorded during a car trip from Yarmouth to Kentville.

	Time

(h)
	Position (km)

	0
	0

	0.4
	45

	0.8
	75

	1.0
	105

	1.3
	120

	1.4
	135

	1.7
	155

	1.8
	170

	1.9
	185

	2.0
	205


a) Using the data table above, create a line of best-fit graph that represents the car trip from Yarmouth to Kentville. Don’t forget to label your axis and title your graph.

b) What is the initial position of the car?

c) What is the average velocity of the car?

d) If the car continued to travel at this velocity, what would its position be at 2.2 h?

e) If the car continued to travel at this velocity, how long would it take for it to reach Windsor (position is 245 km)?
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3.

Using the above graph, answer the following questions to describe the motion of the bicycle:

a)  What is the average velocity of the bicycle?

b) What is the initial position of the bicycle?

c) What is the final position of the bicycle?

d) What is the displacement of the bicycle?
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[image: image10.emf]The position (m) of the bicycle over time (s).
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